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Determining Reasonable Answer Name:
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1.
» Anything times5 HASto end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2.
» Anything times 10 HAStoend in aO. Ex. 10x7=70 10x16=160 3.
\ /
4.
1) 375x10=3,755 2) 10x619=6,190
5.
3) 2x950=1,901 4) 926x2=1,852 6.
7.
5) 224 x2=449 6) 10 x 539 =5,398
8.
7) 868 x 10=28,682 8) 2x550=1,100 9.
10.
9) 5x925=4,628 10) 5x 156 = 780
11.
11) 404x5=2,021 12) 295 x 2 =590 12
13.
13) 2x737=1475 14) 395x2=791 u
15.
15) 774 x5=3,870 16) 554 x 10 =5,540
16.
17) 5x943=4,715 18) 675x5=3,378 17,
18.
19) 240 x2=480 20) 5x598=2,990
19.
20.
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Determining Reasonable Answer Name: Answer Key
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1 no
» Anything times5 HAS to end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2. Yes
« Anything times 10 HAS to end in a 0. Ex. 10x7=70 10 x 16 =160 3. no
L J
4. YES
1) 375x 10= 3,755 2) 10x619=6,190
5. no
3) 2x950=1,901 4) 926 x2=1,852 6. no
7. no
5) 224 x2 =449 6) 10 x 539 = 5,398
8. YES
7) 868 x 10=8,682 8) 2x550=1,100 9. no
10. YES
9) 5x925=4,628 10) 5x 156 =780
11. no
11) 404 x5=2,021 12) 295 x 2 =590 12 A
13. no
13) 2x737=1,475 14) 395x2=791
14. no
15. YES
15) 774 x5=3,870 16) 554 x 10 =5,540
16. YES
17) 5x943=4,715 18) 675x5=23,378 17, yes
18. no
19) 240 x 2 =480 20) 5x598=2,990
19. YES
20. YES
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